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(a) GRID #13

  r = -0.02       RMSE = 268.28 
Sy = 0.076            N = 6 
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(b) GRID #16

  r = 0.07       RMSE = 23.02 
Sy = 0.057            N = 17 
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(c) GRID #21

  r = 0.07       RMSE = 446.11 
Sy = 0.053            N = 6 

20

0

20

40 (d) GRID #22

  r = 0.12       RMSE = 19.91 
Sy = 0.053            N = 16 
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(e) GRID #40

  r = -0.08       RMSE = 293.15 
Sy = 0.100            N = 6 300
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300 (f) GRID #41

  r = 0.37       RMSE = 142.40 
Sy = 0.094            N = 6 
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(g) GRID #53

  r = 0.31       RMSE = 50.94 
Sy = 0.079            N = 17 
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2000 (h) GRID #61

  r = 0.83       RMSE = 563.21 
Sy = 0.109            N = 8 


